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RETEST EXAMINATION - 20% S
- ®
Semester : Ist (Old) ‘{'\V\\?

Subject Code : Me-101  © |
ENGINEERING DRAWING
Full Marks — 100

Time — Four hours

The figures in the margin indicate full marks
for the questions.
PART - A
Marks — 25

Answer all the following questions :

1. Fill in the blanks : 1x10=10
(a) Drawing is the language of

(b) Tee scjuare is used to draw line.

-----------

(d) A plain scale is used to read units
but diagonal scale is used to read
unit.
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(c) Construct a regular hexagon of side 40 mm.
(d) Construct a regular pentagon of side 40 mm.

(e) Draw the bisector of a line of length 80 mm.

8. (a) Draw the projection of a Pentagonal Prism
of side of base 30 mm and axis is 60 mm
resting with base on HP and its one of the
rectangular faces is parallel to the and 10 mm
in front of the VP.

(b) A cone of base 40 mm diameter and axis is
50 mm long touches VP on a point of its
base circle, its axis is inclined at 300 to VP
and parallel to HP. Draw the projection.

(c) Draw a double reveted double cover butt
joint showing plan and sectional elevation.
5x3=15
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